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Questions

Which topology uses multiple star topologies

Which of the following topology uses routes

The physical layout of LAN is known as

Many network includes a central computer that is called

How many pairs of computers can simultaneously communicate on Ethernet LAN

Which one of the following is a LAN protocol

NIC allows direct connection to

A network that transmits data over citywide distance faster than LAN is

Which type of network is the internet

Crossing one LAN to another LAN is done over

A LAN is a combination of

Which of the following is not a component of LAN

LAN stands for

Each computer on a network is called a

A collection of computer connected together is called
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Tree
Ring
Star
None

Star
Ring
Mesh
None

Topology
Hub

Link
None

Server
Bridges
Gateway
None

1
2
3
Multiple

Ethernet
Token ring
ARC net
All

Internet
Network
Printer

Modem

WAN
LAN

MAN
PAN

LAN
MAN
WAN
Done

. Bridges and gateway

Routers
Backbones
MANs

Network adapter cards
LAN cables

LAN application software
ALL

Cable
Gateway
Bridge
Modem

Local area nodes
Logical arrangement of network

. Local area network

Linked area network

Bus

Server
Node
None

. Processing

Network

. Chatting
. Centralized






